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HREGEMIEE 3 265 o W E 101.87 m3 et s .
¥ 5 B h P MEIBE LR BHI%EE & (A8 - KAD)
A 2.05 2.05 0.15 0.30 0.09
ES
B 2.05 2.05 0.30 7.40 4.55 + = v 3 2 B 5 B E R *® @
B
¢ 9 05 9 05 0.15 0.40 0.12 x 106. 63 5 5.90 1.40 8.26
o 476 m B 87.24 8.26 m3
5t 106. 63 m3 {B1EE - kan 8.26 & & RIE0.50m K649 EEH(PFR)
\ e - kmT " W50 N 65 tH (V532) & 20213 n8
- ,
\ R4k fEHIEFE CA= 5.90 m2 /
\ Rl S E A E R (RIR) BHIET EHEFER EIR) shmEit EE A E & (1B - kD)
B 5 i E £ & B 4 % E £ @ W BEEEL
- a 0.80 a 0.70 X % i 1383 "M
&
b 0.80 117 0.94 b 0.70 117 0.82 a 425
c 1.85 4.55 6.03 c 0.96 1.52 1.26 b 4.39 2.65 11.45
220,00 d 2.05 d 0.96 12.20 1.7 PR 11,45 m2
e 2.05 7.37 15.11 e 0.70 1.52 1.26 &tk @ft L
B R’ f 1.85 f 0.70 1.17 0.82 R % L T E [
No. 3+6. 10 / B o
GH=213. 70 / im0 g 0.80 5.62 1.45 B Y32 15.87 m2 a 4.25 1.10 4.68
\ . / bin 4, . h 0.80 117 0.94 £ 4.68 m2
\° G :
215.00 e\ / i v52 30.47 m2
L172 \ /
D, 1.82 . _
\ / B EH L EH R
FH=212. 70 \ / =]
%,\ / 3 % BHEELE | prgmer
FH=211. 40 \ / 1
= % 30.47
s Bl 7
210.00 AELLER o
BRI S FE - 11.45 4.68
&
57.79 m2 4.68 m2
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HEMAE i ROE L E X
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x x B = B
Ed k3 it = F
BRLESHER
X5 A ER R
a 0.30 0.60 0.18
b 1.90 1.30 2.47
c 2.70 0.20 0.54
d 2.90 1.40 4.06
ES e 2.70 0.90 2.43
f 1.60 3.10 4.96
12 g 1.60 3.10 4.96
h 1.90 0.60 1.14
K i 2.40 0.30 0.72
j 2.00 0.40 0.80
® k 1.60 1.50 2.40
| 1.40 1.70 2.38
m 1.20 0.80 0.96
n 0.30 0.60 0.18
i 28.18
a 1.00 1.90 1.90
ES b 1.00 1.40 1.40
¢ 1.00 1.30 1.30
2 d 2.60 0. 40 1.04
e 2.10 1.20 2.52
kK f 0.70 2.00 1.40
=
INE 9.56
it 37.74 m3

No.22 >4 )— bFREITIERLEHER

2.20

fE R
X - K &
iR A # KR kR n 030
n A 3.80 B
2 3 EHERLER
© ° 1.40
2 K 1.60
h 2 i 2.00
3 2| 2| 2 2.40
h 1.9
4 1.60
0 e |4
o.60] 1.3 1.40 | 0.90 3.10 3.10 0.60 1.50 170|080 ]0.60
et DERAER. 4
a b d e f € hoig k I noon
il @
AR AR KE E R 7k E B X E
\ A, 5.00
o / o
p s
s
] - =
4
90 1.40 30 1.20 2.00
a b e Td e f
€3 il @
iR B, 370 # K B K %
N § S N "
| % - e
0.60{ 0.80 2.30 5.30 0.70 1.10 _0.70{ 0.90 | 0.80 {0. 60
b 3 e € h [
ElRkE fmE R
ol 7 £ B K _E
| 0.30
JCI/
p N\
0
0.60{ 0.80 1.80 1.20 3 10 1.30 0.70] 0.90 | 0.80 0.60

70

BRLEEHER
=%} BT A ER A
a 0.30 0.60 0.18
b 1.70 0.80 1.36
Bl c 2.70 2.30 6.21
d 1.60 0.80 1.28
7 e 0.80 5.30 4.24
f 1.30 0.50 0.65
VS g 1.90 0.70 1.33
h 1.80 1.10 1.98
® 2.20 0.70 1.54
] 2.70 0.90 2.43
k 1.70 0.80 1.36
| 0.30 0.60 0.18
INEE 22.74
a 0.30 0.60 0.18
b 1.90 0.80 1.52
c 3.20 1.80 5.76
Bl d 1.00 1.20 1.20
e 0.10 0.30 0.03
7 f 0.10 0.30 0.03
g 0.80 1.10 0.88
K h 2.00 1.30 2.60
2.60 0.70 1.82
= ] 3.20 0.90 2.88
k 1.90 0.80 1.52
| 0.30 0.60 0.18
INEE 18. 60 BIiR &t 41.34m3
A 5.00
i
B 3.70 3.80 16.53
B
INEE 16.53
b 57.87 m3
At 95.61 m3
BIGEEREHER
AR ¥ ER 3
No. 3
+12. 00 5.90
No. 4 0.90 1.60 25.84
El 0.00 1.40 0.63
it 26.47 m3

X ERFFHEMMARKSER

95.61 + 26.47

122.08 m3
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HEWE oW OBER L EE
HEFA ERBHBEKRRER
HEHES £ 3B o N fie R 1:100
I =
= = T £t ) =
F @ K Bl m =
20.50
9.50 11.00
9.20 Tl.eo 9.70 6.00
0.30 | 100 | 030 Bk REHF 0.30
6. 04
—[ 0.80 o
FH=219. 90 A 8.90 b - 9.40 - v, = 0.80 —lfo'l
1930 = T 1
SREITRE - l FH=217. 43
0.30 3.52 0.30 ol S -
30 | 10003 s o S
N N 0.70 —(e
L 7 - | s\ 4B P
’ - p— =4 g 8 s
FH=215. 90 2 6.8 | FH=216.20 TR o 070 | C
N—— Ve g
FH=214. 90 s B 096 T} 3
.61 | lo.79 ¢ =20cm 0.79] | 0.61 2.20 4.00
1.40 11.20 1.40 FHIE 0.83
14.00
0.60 2.40 [018 10.38 0441 590 0.60
3.00 11.00 6.50 mERMAR
AR EM ¥ m EEEMH
0.30 0.30
[=] G ™) ol
I E B s E 8 E s
- T Yo == — !
P 3 |loss 2.60 0.8 S
0.46 4.10 s s 2.50 4.10 46
4.56 447 4.56
a
¥ & 0.3 0.0
SAEITH#E _ ., i T
1K AR 7 —— | -
X G K
|| | g{ 2 1.06 2.60 0.90
- J E S | 1.2 2.50
4.66
b
0.30

T SMEE

INOHAR

AETDSHE

avy)—k

EiHEH

EARER

= 4.93
= 3.53
= 12.89 N 21.35
= 3.33
= 0.42
= 0.19
= 2.98
= 0.36
= 01 li\Y 1.45
= .M
= 1.64 N 3.35
AFt  32.15m3

N 57.13 m2

N 25.12 m2

Blig c (7.20+6.89) +2x 1.00x 0. 70
¢ (5.20+4.89) +2x 1.00x0. 70
D 1.30+6x {(2x 11.20+12.78) x 0. 96+ (11. 20+2 x 12. 78) x 0. 70}
BlEEE E (0. 30+0.95) +2x 1.30x 4. 10
F 4.10%0.21+6x (0. 95+1. 06+0. 95)
a 1.51x0.46=6x (0. 30+0. 30+1. 06)
BlEEEE E (0.30+0.82) +2x 1.30x 4. 10
F 4.10x0.21+6x (0.82+0. 90+0. 82)
a 1.51x0.46=6x (0. 30+0. 30+0. 90)
A EE H 4.19%0.30+6x (2. 78+2. 78+2. 60)
skn H 4.10x0.30+6x (2. 78+2. 60+2. 60)
p=
Elie c (7.20+6.89) =2 x 1. 00 x (1. 000+1. 000) = 14.09
[0 (5. 20+4.89) +2x 1.00 x (1. 000+1. 000) = 10.09
D (12.78+11.20) +2x 1.30 x (1.000+1.020) = 31.49
ok Es (0.70+0.70) +2x 1.00x 1. 044 x 2 = 1.46
BEEEE E 1.30x4.10% (1. 044+1.020) = 11.00
F 4.10x0. 212 (1.044+1. 020) = 0.89
G 1.51x0. 462 x (1. 044+1. 020) = 072
B k% E 1.30x4.10% (1. 044+1.005) = 10.92
F 4.10x0. 212 (1. 044+1. 005) = 0.88
G 1.51x0. 462 x (1. 044+1. 005) = 0.71
BElRERE R H+2=2.30+2= 1M
Bl g (7.20+5.20) x 1% 2
BRI (3.65+3.76) +2x4.00
No. SKEITIER LS H
_ AR (1.70+1.70) x0.50 = 1.70 m2
1748/m2 x 1. 70m2 = 28.90
= 20.00 %
(HETERSE) 11.00 %

At 82.25 m2

24.80 m

14.82 m2

—fHEEA ERBRABLMAERS



g K B! 6 FE
£ # No.3a >4 )— FRELEAIR
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® E E ® W ®
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No.3a3 29 )— FRETHEAIE
225.00
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\’ /
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T /
FH=215. 90 | e o
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HHER PBH 2 30
BHEEE ZR i o
AEALER 3.08 0.92
. I
\ 8 ik #EHIEFE CA= 3.80 m2
N\ HERER EHIEE CA=1.10 m2
\ /
— /
fﬁi‘/
% | % . 5
- / h
ov L A ¥ L
o L— 1
\
\
\
220. 00 \ Bl R
No. 4+7. 60
\ e GH=215. 90
/
3 /
1
FH=216. 20 S g -
o ©of | o
215.00 FH=214. 90 i[ o
FEtEER 11.20
FIAEHIER 6.10 0.80 2.30
F G H

/

/
/
/

BHIMEHER FIID)

EHEL LREFER IR

X 5 18 E & m

a 0.70

b 0.70 1.17 0.82

c 0.96 1.52 1.26

d 0.96 11.20 10.75

e 0.70 1.52 1.26

f 0.70 1.17 0.82

i v 3R 14.91 m2)

FEEALREHER (EIEE - k)

Xo LW | TR | &8 |ER *
A 2.54 1.70 0.70 0.80 1.19
B 3.02 1.70 1.10 0.60 1.56
C 3.74 1.82 1.60 0.80 3.56
D 4.36 1.96 2.00 0.50 3.16
E 3.64 1.96 1.40 1.50 5.88
F 3.16 1.96 1.00 6.10 15. 62
G 3.88 1.96 1.60 0.80 3.74
H 4.72 1.96 2.30 2.30 17.67
I 3.86 1.82 1.70 0.80 3.86
J 2.30 1.70 0.50 0.60 0.60
i 56. 84 m3

k3 RIE0.50m %645 LB (VIR)

FE it Lk &R
EHIELE B
oo | ROEEE T smer
B = 14,91
fUEE - ok 14. 06 4.11
& & 28.97 m2 411 m

WEIZEFR (RIEE - k)

X o | WEHE | & & ®

B & 3.80| 2.30 8.74

N 5 8.74

EA 110  3.00 3.30

N & 3.30
Bt 12.04 m3

5 & |RIL0.50m &£6%H TE(PFR)

mHIREEHE
r 7 Y3 R
el i 56. 84
{18 - JkAp 12.04
& B 68.88 m3
A1.70
\ /
\2. o/
BYLID. % K ,
N oy
C.11.82 U
NN g 0o /7
D~H1.96 \ \ [
AR EA A
N b 0 /o
@\ /7
(- °© /Y
\ /
~ 5/

M E & L

X 5 & E R | i

a 4.47

b 466 3.08 14. 06
&t YI2R 14. 06 m2

B % EMLL

X 5 & E R |

a 4.47]  0.92 411
&t 411 m2
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HEES |2 3B 0 13 | % R 1:100
El E3 x B [l %
A E
e
b
Al &
K = a B K&

No.3a> 9 )— FREITERLAER

AR K E -3

T

s
i
HEZ €S il &
AR B. 5.90 kR x E #&

S

et

Bl &
K _® £ B X
a 0.30
b 170
o 2.9

| WS
[ I ~
(SN =
T 9 4
2.20 3.70 1.30 fo.80] 1.20 |0 80 6
f g h i J k 1
Bl KE ﬁ m =
a7 - X _® £ B X =
m_ 0.30

4.20
RIEER LER

1.40 0.6
f g
B

7o

BRLBEHER
X5 | MiEH | ER 1
a 0.30 0.60 0.18
b 1.60 0.70 1.12
c 2.50 0.10 0.25
&l d 2.20 0.50 1.10
e 1.30 1.50 1.95
= f 0.80 2.20 1.76
g 0.50 3.70 1.85
X h 0.80 1.30 1.04
i 1.70 0.80 1.36
3 j 2.70 1.20 3.24
k 1.60 0.80 1.28
| 0.30 0.60 0.18
INEE 15. 31
a 0.30 0.60 0.18
b 1.70 0.70 1.19
c 2.90 0.10 0.29
&l d 2.60 0.50 1.30
e 1.50 1.50 2.25
7 f 0.90 1.40 1.26
g 0.30 0.60 0.18
X h 0.20 0.30 0.06
i 0.20 0.30 0.06
= J 0.90 1.20 1.08
k 3.20 0.80 2.56
| 1.90 0.80 1.52
m 0.30 0.60 0.18
N 12.11 Bl & 27.42m3
A 12.40
il
B 5.90 4.20 38.43
B
NG 38.43
=D 65.85 m3
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T E
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=
o
L1.L2 S
1 Bk DS 2. BEICE RS I I
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0.50 HHER(XSenEYFET S
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HFARDEIE - B . KEATRED R EEHE
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SD345(D19)
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—l ( 0345 019) No 2BRETZEEL  H+2=3.50+2=1.75 52.0 2.0-1.0 = 1.0H
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x x B = B
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IF @M
15.70 aH B E B
13.70 2.00
9.15 0.90 3.65 1.60
03 03| 030
to3s6 10 0.80_, 0.80
0.3
Ng. 3} FH=213. 70 T
FH=213. 40 10|
FH=212. 70 8
—_— —_— A B — sl R
% J; -
FH=211.40 -
— = ] = =
5 e i o]
< 1.20
15.43 0.27
15.70
No.2a> 5 ) — FERETEIR HEHE
No. 12 >4 1y — FEREITAIR V% ik |2 H=2. 00m = 1570 m
BELZL 1.00x0.02x15.43 = 0.31  m3
B
-3 ) el 1.20x0.10x15.43 = 1.85 m3
15.70(15. 76)
13.70 TR
AP 0.10%15.43x2.0 = 3.09  m2
e - ERER 1.20x 15.43 = 1852 m
e RO
s N\ —] 2
z ° JrE 2 A 1.20%13.93 = 1672 m
E B
Bt AmEtt b 1.20x1.50 = 1.80  m2
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+6.10
By EE u 150 o0 lWGJ B 0.00 1.30 4.55
-_— 0.30r~= T =
_ A No.2+10.00 +6.10 8 B
A - R 10.00 6.10 H 38.09 m3
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211.50 212.50 214.20
| | | ]
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- - o0 - - l s
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15.43 0.27
15.70
No.2a> 5 ) — FERETEIR HEHE
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FE BELZL 1.00x 0,02 15.43 = 0.31 m3
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aH B
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gl = - ERER 1.20x 15.43 = 1852 m
HAIEtE 1.20x13.93 = 1672 m
13.70 %/
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E B
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No. 2+10. 00 +6.10
BRUER 5,60 5.10 3 3.30 7.80 15.21 +6.10 0.80 6.10 21.35 +6.10 4.70 6.10 22.88
2 33133 060 1o +6.10 6.20 4.40 20.90 &t 73.19 m3 &t 40.64 m3
No. 2+10. 00 +6.10
B EE T o - B 0.00 0.90 2.79
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BERB ERBREBERAR
EEES £3 o 17 R 1:100
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13.20 2.00
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No. 3+12. 00 No. 4 No. 4+7. 60 FH=217. 20 T
FH=216. 90
FH=216. 20 g
FH=215.90 0% g B
FH=214.90 2 _
T s — e R
Srow 5 [
< 1.20
14.93 0.27
15.20 No.3a 5 ) — FERETEIR HEHH
IS % Slrk el 2 H=2.00m = 1520 m
No.2a> %9 Y — FEREITHIE
BELZIL 1.00%0.02x 14.93 = 03 m
=
_E@ayou—k 1.20%0.10x 14,93 = 179 m
15.20(15. 26)
13.20 2,00
200
LR 0.10x14.93x2.0 = 2,99  m
S o g - EREE 1.20% 14.93 = e w
E - JbUE mHIEE L 1.20%6.73 = 8.08 m2
E B
Bt AmEtt b 1.20x8.20 = 9.84 m
| PRV (2.00%1.20 x 0. 50) = 10
t # (kO1#&8cm, L=1. 50m) = 20
No.23 9 Y) — FEREII&IZ
220.00 i 7R No.33 >4 Y — FEREITEIR
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— e e e e A HEHI (CA) B E R BT ERE BA) HEHEK HRLGBN)BEFESR
o A B T 7 123 1% A B T 7 123 1% A B T 7 E& i
/ 4 0.00 3+12.00 8.60 4 0.00
Bt AEL EEE 620 +7.60 1.80 6.00 5.40 4 8.10 7.60 63.46 +7.60 1.40 7.00 4.90
BHIEELEE o D 0.00 0.20 0.18 +7.60 7.20 7.60 58. 14 5 4.90 m3
210.00 BELEE 7.00 t 5.58 n3 i 121.60 m3
No. 4
BIEEER L 7.60 7.60
No. 3+12.00
o EER L 6.00 J
_— I~ 020
No.4 +1.60 p
8.00 7.60
No. 3+12.00 No. 4 +1.60
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| | | ]
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